Puissances de Dix (C)

Trouvez chaque produit ou quotient.

35+ 10' = 95 x 10 =
29 x 10° = 48 +10° =
62 x 10 = 100 x 1072 =
46 + 1073 = 76 x 107! =
6+1072= 53 + 102 =
89 x 107! = 91 x 10 =
4+107 = 93 + 10" =
59 +107% = 95 x 10 =
36 x 10% = 87 x 103 =
76 x 107 = 66 x 10° =
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Puissances de Dix (C) Solutions

Trouvez chaque produit ou quotient.

35+ 10'=3,5 95 x 10* =950
29 x 10°=29 48 =~ 10° =48

62 % 10' =620 100 x 1072 =1

46 +1073=46 000 76 x 1071 =76
6+ 1072 =600 53 +10%°=0,53
89 x 1071 =89 91 x 10* =910
4+1073=4000 93 +10'=9,3

59 +1072=5900 95 x 10* =950
36 X 10° =36 000 87 x 10°* =87 000
76 X 1073 = 0,076 66 X 10° =66
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